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UNIVERSITY OF NORTH BENGAL 

B.Sc. Programme 4th Semester Examination, 2021  

DSC4-MATHEMATICS 

D. E. & VECTOR CALCULUS 
Time Allotted: 3 Hours Full Marks: 60 

ASSIGNMENT 

The figures in the margin indicate full marks. 
All symbols are of usual significance. 

 GROUP-A 

1. Answer all questions: 
সবgিল  pেűর উtর দাওঃ 

2×5 = 10

(a) Show that 2),( xyyxf  satisfies Lipschitz condition on the rectangle 
1||,1|| yx . 

 pমাণ কর েয 2),( xyyxf  অেপkকিট 1||,1|| yx  আয়তেkেt Lipschitz-এর শতর্ 
েমেন চেল। 

(b) Find the Wronskian of the set }31,1,1{ xxx . 
 }31,1,1{ xxx  েসটিটর Wronskian-এর মান িনণর্য় কর। 

(c) Solve:  /  িনmিলিখত অবকল সমীকরণিট সমাধান করঃ
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(d) Find the value of 2
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D
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D
-এর মান িনণর্য় কর। 

(e) Verify that the following functions are linearly independent },,{ 432 xxx eee . 

 ‘ },,{ 432 xxx eee  েসেটর অেপkকgিল linearly independent’ সত°তা যাচাই কর। 
  

 GROUP-B 

2. Answer all questions: 
সবgিল  pেűর উtর দাওঃ 

12×3 = 36

  (a) (i) Solve, by method of variation of parameter
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  Variation of parameter -এর পdিতেত িনmিলিখত অবকল সমীকরণিট সমাধান কর, 

  xe
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dx
yd
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 (ii) Solve by method of undetermined coefficients

  1161810)6( 322 xeeyDD xx  
6

  Undetermined coefficient-এর পdিতেত িনmিলিখত অবকল সমীকরণিট সমাধান কর, 
  1161810)6( 322 xeeyDD xx  

(b) (i) Prove that kjidt
dt

rdr ˆ15ˆ75ˆ142

22

1
⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
∫

r
r , where ktjtittr ˆˆˆ5)( 32r . 3

  pমাণ কর েয, 
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rdr ˆ15ˆ75ˆ142
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r , েযখােন েদওয়া আেছ ktjtittr ˆˆˆ5)( 32r . 

 (ii) Prove that :  /  pমাণ কর েয, 
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 (iii) Solve:  /  সমাধান করঃ  
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(c) (i) Solve:  /  সমাধান করঃ 
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 (ii) Solve:  / সমাধান করঃ   
   xeyDD x 22 cos)42(  
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 GROUP-C 

3. Answer all questions: 
সবgিল  pেűর উtর দাওঃ 

7×2 = 14

(a) Solve the system:  / িনেmর অবকল সমীকরণgিলর েজাড়িট সমাধান করঃ 

 tty
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(b) Solve:  /  অবকল সমীকরণিট সমাধান করঃ 

 
2

3414 2
2

2
)( xxeyx

dx
dy

xx
dx

yd  

7

 
——×—— 

 


